HAGE] 2BV a=Tr/uRhr N) —FERE ARETHE
Bt A SFnT4E1H26H S TEAVE S = &
MHEEAERE oo fmoOE
AR R wmon O
IN$2E B4 HEBRE 2 m E sl
JIEAT NO K 4 AR B3 & B A I A L7
1 4 TN SO I N 2 4 XC 0:5:18.4
2 3 T B O 2 X C 0:5:30. 3 0:0:11.9
3 2 oo B R 2 HBEXC 0:5:53.3 0:0:34.9
4 1 BmoA R 2 YFRX C 0:6:28.9 0:1:10.5




Fa6H ETV =T r7uRbr M) —FELKE AREH

BB SF741H26H ESTORAVE S moGE 1%
B EAERE o fmoOE
FHFETERE =) OB
IN$IE T4 HEBRE 2 W K 5L
JIEAT NO K 4 SRAE B & B A I A L7
1 5 A Va7 2 )X C 0:5:11.9
2 10 & ) KK 2 HREX C 0:5:35. 4 0:0:23.5
3 9 L HTn 2 JERIEE X C 0:5:38.2 0:0:26.3
4 7 i )i #H TE 2 #FEXC 0:6:35.9 0:1:24.0
5 8 w0 1E 2 EHEXC 0:6:43.0 0:1:31.1
6 6 5 W F Tt 2 BEPRX C 0:7:06. 2 0:1:54.3




Fa6H ETV =T r7uRbr M) —FELKE AREH

BAfEH SFI7T4E1H26H EST RS G &
B EEE BORT F0nOE
R AER R wmo)I
INE1E BF4 BHBHRE 2 H B 9
JEAE NO K 4 AR I3 & XA A B A b7
1 16 X W = E 1 JEMALEF X C 0:5:45.9
2 19 e B OB K 1 X C 0:5:59.3 0:0:13.4
3 20 ([ SCKH 1 X C 0:6:03.0 0:0:17.1
4 12 —F— % L 1 X C 0:6:06. 2 0:0:20.3
5 11 /I < N 1 JEMGILEF X C 0:6:44. 0 0:0:58. 1
6 18 Bl KRR 1 %S S 0:7:13.3 0:1:27.4
7 14 & I ZE Oy 1 X C 0:7:20.3 0:1:34.4
8 13 BEOJF RRIRER 1 T#ES S 0:9:17.5 0:3:31.6
9 15 O I, 1 f%ES S 0:9:29. 1 0:3:43.2
FEHE 17 o @k R 1 %X C




HA6E] WV a2=Truxb L M) —EKRES ARTHF
PfiE R SFITEE1H 26 H EififE & B I
MEEAE BORT F0nOE
R AER R wmo)I
INSE1E HFHR EERE 2 B B sl
JERT NO K 4 AR T & B A I B A NG
1 25 Bl = 1 EMX C 0:6:19. 2
2 23 L A K 1 JEMILEF X C 0:6:52.3 0:0:33. 1
3 27 ol B 1 +RIX C 0:6:53. 1 0:0:33.9
4 24 i m oK Fn 1 X C 0:7:00. 3 0:0:41. 1
5 26 N B OE 1 WX C 0:7:21.3 0:1:02.1
6 21 kB = 1 B X C 0:8:29.3 0:2:10. 1
7 22 % H 2 1 X C 0:8:46.2 0:2:27.0




HA6E] WV a2=Truxb L M) —EKRES ARTHF
BAfEH SFI7T4E1H26H A& wE i
B EEE OFT O Z
R AER R (I I 7 7
INEAFE BF4 JEBRE 2 W B il
JERT NO K % AT 31 = B A I B A D7
1 41 AR AR 4 H)IIXC 0:7:19.9
2 39 U NN 4 LR X C 0:7:34.2 0:0:14.3
3 35 e 4 B)IIXC 0:7:40.7 0:0:20.8
4 36 moE B K 4 f#ES s 0:7:50. 2 0:0:30.3
5 29 T X K K 4 BEERIX C 0:7:54.5 0:0:34.6
6 31 [ AN 7SR = 4 FLIEX C 0:7:57.2 0:0:37.3
7 37 B D 22 ST 4 HARX C 0:8:13.7 0:0:53.8
8 33 £E H & W 4 X C 0:8:18.2 0:0:58.3
9 34 OB OB W 4 LI X C 0:8:24.8 0:1:04.9
10 38 F OO 4 HARX C 0:8:56.8 0:1:36.9
11 32 R B 4 HHXC 0:9:46. 3 0:2:26. 4
12 30 = % & 4 IEFFORX C 0:10:16.9 0:2:57.0
13 28 AKFFES P ER 4 WX C 0:14:28.8 0:7:08.9
FEHE 40 o R A 4 HRX C




HaglE] 2PV a=TruRrBbr MY —FEKRES AREE
BB SF741H26H ESTORAVE S moGE 1%
B EAERE ORI O =
FHFETERE =) OB
INESE B4R EERE 2% B B ol
JIEAT NO K 4 SRAE it & 2 A I Y EPN
1 45 B MR 3 =% axc 0:7:27.3
2 43 foR W ol 3 A% X C 0:7:51. 4 0:0:24. 1
3 42 = n — B 3 FEREXC 0:10:32.5 0:3:05. 2
4 44 %k b 3 X C 0:11:31.8 0:4:04.5




Fa6H ETV =T r7uRbr M) —FELKE AREH

B R S FT41H26H Heafriak G &
MEEAE BORT F0nOE
R AER R wmo)I
INEATE  #F3A BHBHRE 2 H B 9
[=tiva NO K 4 AR At & B A I B A b7
1 52 oL OE 4 =t axc 0:7:27.5
2 54 Moot W kg 4 FARX C 0:7:31.3 0:0:03.8
3 53 T B F 7 4 WX C 0:8:12.8 0:0:45. 3
4 51 W8 & 4 X C 0:8:27.7 0:1:00. 2
5 49 ool Oed 4 B X C 0:9:42.5 0:2:15.0
6 50 o FE R 4 +HIX C 0:10:04. 5 0:2:37.0
7 48 . X ¥ #& 4 X C 0:10:31.7 0:3:04. 2
8 46 E % FE B 4 X C 0:11:49.6 0:4:22. 1
9 47 oW PR 4 WX C 0:12:25. 1 0:4:57.6




wAeE SEVa=Tr7uRbr b —FEARES ARXFEH
BB SF741H26H ESTORAVE S moGE 1%
B EAERE o fmoOE
FHFETERE =) OB
IN$3E LR HEBRE 2 W K 5L
JIEAE NO K 4 AR B & A A A L7
1 55 T fE OE 2 3 X C 0:7:52.5
2 58 B 1E M 3 BIEEX C 0:8:14.5 0:0:22.0
3 57 x N 3 F 3 JERNILEF X C 0:8:41.4 0:0:48.9
4 56 AN = S S 3 B2 X C 0:8:50. 4 0:0:57.9




HA6E] WV a2=Truxb L M) —EKRES ARTHF
PR SFTEE1 260 HifE & G 18
B EEE OFT O Z
AR EARE | I IR
INP6E BF4 HEBRE 2 m E sl
JEAE NO K % AT 31 = B A I B A D7
1 83 L/ NI S 6 ELIEX C 0:10:32.3
2 78 4 B Z 6 ERRIX C 0:10:37. 4 0:0:05. 1
3 81 = F EXH 6 Mt X C 0:10:40.7 0:0:08. 4
4 77 SR T N ) 6 kX C 0:10:44. 1 0:0:11.8
5 79 7O E N 6 ERRIX C 0:10:54. 4 0:0:22. 1
6 75 f[ ¥ oC B 6 X C 0:11:00.6 0:0:28.3
7 71 22 I N 7 S 6 PR X C 0:11:11.1 0:0:38.8
8 82 [ & 6 HMiFX C 0:11:11.3 0:0:39.0
9 80 B OF SREER 6 FEFFOIR X C 0:11:12.4 0:0:40. 1
10 74 BOoJE OFOA 6 IS S 0:11:32.0 0:0:59.7
11 76 S A PN 6 EiIEX C 0:11:41.2 0:1:08.9
12 73 B FEERR 6 f#S S 0:11:52.7 0:1:20.4
13 69 A= I N 6 HAHEEX C 0:12:22.0 0:1:49.7
14 68 BT B 6 =t aXC 0:12:46.8 0:2:14.5
15 67 g5 WM O 2 6 JEMALEF X C 0:13:01.8 0:2:29.5
16 66 oA W 6 X C 0:13:23.0 0:2:50.7
17 65 i in 6 FEREXC 0:13:28.2 0:2:55.9
18 62 % OpE W K 6 B4 X C 0:14:13.3 0:3:41.0
19 64 A H R 6 FLIEX C 0:15:12.5 0:4:40. 2
20 60 25 6 EHX C 0:16:18. 4 0:5:46. 1
21 63 i 4t 6 4% X C 0:17:28.8 0:6:56.5
22 59 O B R 6 HAEEX C 0:17:50.7 0:7:18.4
23 61 KAEH L 6 LFEX C 0:20:04. 3 0:9:32.0
FEHE 70 L S N 6 FHRX C
FEMe 72 moR ' AT 6 HIn% X C




HA6E] WV a2=Truxb L M) —EKRES ARTHF
BAfEH SFI7T4E1H26H EST RS wE i
B EEE OFT O Z
AR EARE | I IR
INEHE BF4 JEBRE 2 W B il
[[=ThA NO K % AR 31 & B A I B A L7

1 102 % H 5 =EERIX C 0:11:24.1
2 96 H OB OE X 5 H)IIX C 0:12:21.5 0:0:57.4
3 100 ORI K 5 R OIRX C 0:12:31.6 0:1:07.5
4 99 [ = S N 5 HEXC 0:12:53.9 0:1:29.8
5 101 VN it 5 ELIEX C 0:12:55.7 0:1:31.6
6 94 & & 5 HJIXC 0:13:14.9 0:1:50.8
7 97 oI O N 5 X C 0:13:20.0 0:1:55.9
8 95 e B R 5 FEREBXC 0:13:33.5 0:2:09. 4
9 84 o\ %D 5 HRIX C 0:13:47.9 0:2:23.8
10 98 b Eok 5 4% XC 0:14:05.3 0:2:41.2
11 93 L oA B = 5 JEM LR X C 0:14:22.7 0:2:58.6
12 92 A N EVN 5 EHX C 0:14:33. 2 0:3:09. 1
13 91 1 JSKEA 5 JEM LR X C 0:14:54. 5 0:3:30. 4
14 86 B S 5 FERHXC 0:15:34.8 0:4:10.7
15 85 B[ EB BE OBk 5 X C 0:15:49. 3 0:4:25.2
16 87 O B 5 FHJIX C 0:17:16. 4 0:5:52.3
17 90 % ] 5 X C 0:17:27.1 0:6:03.0
18 89 = HOB & 5 X C 0:17:43.7 0:6:19.6
19 88 B B} 5 RBEIEX C 0:21:42. 2 0:10:18. 1




Fa6H ETV =T r7uRbr M) —FELKE AREH

B R S FT41H26H ik = &
MEEAE BORT F0nOE
R AER R wmo)I
INEOE *F3A BHBHRE 2 H B 9
JEAE NO K 4 AR At & B A I B A b7
1 111 R 1 < TN 6 X C 0:10:40.9
2 114 BOR ' A 6 =t aXC 0:10:58.2 0:0:17.3
3 113 T B B R 6 EiERIX C 0:11:04.7 0:0:23.8
4 109 o K B Ak 6 ERX C 0:11:08.5 0:0:27.6
5 110 bR 6 BHZE X C 0:11:56.6 0:1:15.7
6 107 H f & 6 JEREXC 0:12:00. 2 0:1:19.3
7 108 IS I A 6 =+t axc 0:12:27.4 0:1:46.5
8 104 (IR R < TR 3 6 JEEXC 0:12:34.0 0:1:53.1
9 112 15 7 O Wil 72 6 X C 0:13:02.3 0:2:21.4
10 106 ok HE 6 HARX C 0:13:10.0 0:2:29. 1
11 103 S S 6 X C 0:14:36. 1 0:3:55.2
12 105 VAN /N 6 X C 0:15:03.9 0:4:23.0




Fa6H ETV =T r7uRbr M) —FELKE AREH

BAfEH SFI7T4E1H26H EST RS G &
B EEE BORT F0nOE
R AER R wmo)I
INESE #F3A BHBHRE 2 H B 9
JEAE NO K 4 AR I3 & XA A RN
1 126 [CIE: S N e/ 5 X C 0:11:24. 4
2 125 VN L 5 RIFNX C 0:11:33.4 0:0:09.0
3 123 BB W o 5 IS S 0:11:44. 1 0:0:19.7
4 124 X N 9 Iz 5 JEMALEF X C 0:12:12.5 0:0:48. 1
5 120 £ M W 7 5 EERIX C 0:12:14.9 0:0:50.5
6 122 e B EX 5 RAA)NX C 0:12:25.9 0:1:01.5
7 121 fw I o 5 FLIEX C 0:12:38.8 0:1:14.4
8 116 H—F—3L b 5 X C 0:12:40.0 0:1:15.6
9 119 [ RES (3 5 FEFDIRX C 0:12:41.5 0:1:17. 1
10 117 & on oM 5 X C 0:13:35.6 0:2:11.2
11 118 = #E Ffn AR 5 JEMALEF X C 0:15:08. 6 0:3:44. 2
12 115 Ji SiiE 5 EBEX C 0:18:15. 2 0:6:50. 8




HA6E] WV a2=Truxb L M) —EKRES ARTHF
BAfEH SFI7T4E1H26H B s wE &
B EEE OFT O Z
AR AR R (I I 7 7
hes14  #&F48 EHRE 2 m K i
JEAE NO K % AR 31 B A I B A D7
1 308 [T It ] 1 Emg 0:10:44.6
2 305 e BHOA& 0 1 X C 0:10:53.7 0:0:09. 1
3 303 T ¥ % x 1 Ehgh 0:11:27.4 0:0:42.8
4 302 K OB % 1 2k 0:11:28.8 0:0:44.2
5 306 Fom HOBE 1 A 0:11:42. 4 0:0:57.8
6 301 i FE R 1 X C 0:11:44.8 0:1:00.2
7 307 b & F 1 Seps 0:11:46. 4 0:1:01.8
FEHE 304 w o m A % 1 By X C




HA6E] WV a2=Truxb L M) —EKRES ARTHF
BAfEH SFI7T4E1H26H B s wE &
B EEE OFT O Z
R AER R (I I 7 7
h&s0&F 4 F48 HEBRE 2 W K 5L
JEAE NO K % AR 31 & B A I B A D7
1 317 = W ABE 2 £ 0:10:07.7
2 315 = e A =S 2 BRI 0:10:10. 2 0:0:02.5
3 312 o)l M 2 Eig L 0:10:48. 4 0:0:40.7
4 314 e i oHm & 2 LFEX C 0:11:13.7 0:1:06.0
5 310 K5 E WK 2 e 0:11:19. 3 0:1:11.6
6 311 H oK B OE 2 FEHR R 0:12:11.2 0:2:03.5
7 309 oG kb iE 2 Fnge 0:12:23. 1 0:2:15.4
FEHe 313 X & = ft 2 IEHFOIRX C
FEHE 316 E B oW o x 2 e




Fa6H ETV =T r7uRbr M) —FELKE AREH

BEH A RIT4ELA 26 gk @ B 8
BEEAE % W R 2
RHERERE  dE Il B
thas34E L F4R FERE OB m B il
NEAL NO K Z4 FAE A e B A L XA NG

1 318 & EE 3 HHA 0:10:11.1




HA6E] WV a2=Truxb L M) —EKRES ARTHF
BAfEH SFI7T4E1H26H A& wE i
B EEE OFT O Z
R AER R (I I 7 7
hes14g BF4 HEBRE 2 m E sl
JERT NO K % AR 31 B A I B A D7
1 335 BN OB 1 GEREIE 0:17:04. 1
2 332 " OH B Ok 1 Fnged 0:18:44. 1 0:1:40.0
3 333 7w — K 1 GEREIE 0:19:05.5 0:2:01. 4
4 334 K N %= b 1 JE A 0:19:25.0 0:2:20.9
5 330 % BE I 1 A 0:19:28.8 0:2:24. 7
6 331 o & 1 LI X C 0:20:08. 6 0:3:04.5
7 319 5= E<lh 1 LR X C 0:20:35.3 0:3:31.2
8 329 Ik B sk 1 HAAE 0:20:54. 0 0:3:49.9
9 328 AN N - S 1 A 0:20:57.5 0:3:53.4
10 322 O B M 1 FLIEX C 0:20:57.7 0:3:53.6
11 321 o 3 = 1 A 0:21:03. 4 0:3:59.3
12 327 ZPH M F 1 CEREIE 0:21:13.9 0:4:09.8
13 324 22 | B = O 7 1 REAR 0:21:35.7 0:4:31.6
14 326 Kook L 1 Eprp 0:22:50.5 0:5:46. 4
15 323 it B WIKRED 1 Eprp 0:23:43.8 0:6:39.7
16 320 RO (RS 1 Eprp 0:25:06. 4 0:8:02.3
FEHE 325 " H FH 1 JE A




HA6E] WV a2=Truxb L M) —EKRES ARTHF
BAfEH SFI7T4E1H26H A& wE i
B EEE OFT O Z
R AER R (I I 7 7
thegos B34 fEBRE 2 W B Al
JEAE NO K % AR 31 & B A I B A D7
1 347 I I N 2 BRI 0:16:30.5
2 344 R == 2 Pt ey 0:16:59. 8 0:0:29.3
3 346 B X & K 2 HRA 0:17:09. 4 0:0:38.9
4 341 wmonow sk 2 e 0:17:38.9 0:1:08.4
5 345 oE Kk 2 FnzEr 0:17:43.9 0:1:13.4
6 340 B o & 2 WX C 0:18:27. 1 0:1:56.6
7 342 W B B Mg 2 e 0:18:30.6 0:2:00. 1
8 339 = PN 2 Pt ey 0:18:30. 7 0:2:00. 2
9 343 M) B 2 Fah 0:18:38.5 0:2:08.0
10 338 Ml R 2 EWR 0:19:52.5 0:3:22.0
11 337 -/ PN 2 FIESt] 0:21:24.6 0:4:54. 1
FHe 336 ESIE ST - | 2 BHHHXC




Fa6H ETV =T r7uRbr M) —FELKE AREH

BB SF741H26H ESTORAVE S moGE 1%

B EAERE o fmoOE

FHFETERE =) OB

h&s34g B4 HEBRE % W B i

JIEAE NO ’ va AR P & A A N
1 352 /N B 3 Fnzer 0:16:27.0

2 350 JU Wl kTR 3 BABAXC 0:17:35.5 0:1:08.5

3 349 N/ A N 3 BHEAXC 0:17:38.5 0:1:11.5

4 348 N H £ # 3 BABAXC 0:17:41.7 0:1:14. 7

5 353 = — 3 LRI 0:17:48.9 0:1:21.9

6 351 i W & ¥R 3 SepE 0:19:45. 4 0:3:18.4




